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: Part-B ,
Answer any 3 questions. Question No. 14 is compulsory: 3x2=6

11) What is Corona discharge?

12) State Kirchoff's first law.

13) Define mobility. Give its unit.

14) During lighting sitting inside a car is safer than standing under the tree.
Why?

15) How is a galvanometer converted into ammeter?

Part-C
Answer any 3 questions. Question No. 19 is compulsory:
16) Deduce the expression for energy stored in the capacitor.
17) Deduce the expression for electrostatic potential at a point due to point

3x3=9

charge.
18) Explain the determination of internal resistance of a cell using voltmeter.

19) Two resistors when connected series and parallel, their equivalent resistances
56
are 15Q and EQ respectively. Find the values of resistances.
20) What are the properties of dia magnetic materials.

Part-D
Answer all questions: 2x5=10
2'1) a) Explain principle Construction and working of Vande Graff generator.
(OR)
b) Deduce a relation for the magnetic field at a point due to an finitely long
straight conductor carrying current.
22) a) Obtain the condition for bridge balance in wheatstone's bridge.
(OR)
b) Deduce a relation for the electric field due to a dipole on its equatorial
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